HER- HREEHES
T101-0054 BHZERT 14 H X 4 HERET2-€
TEL: 03-3295-1341

101-0054 B
FRATRERMERIT2TH NEREH  |smaE —msx TR B smgs | past | andee
402 20.1 231
BE EF 1% ﬁﬁ_ﬁﬁfﬁ HEH 415 | 244 244 E
01 (012345) A67890 i 497 [ [ 245] 245
J— 41 379 36.6] 21.7] 323
S KERAF 301 167 164, 67 67| D
HERTRD 373 185/ 181] 68| 68|
A e
;i ESNIE
BERRE 223 176] 176] 67 67
A BELALITHSELTOET . D: ZARETCEBARETT .
qiy| B | = BER RE| |5, TR GE) BHETHENE  [B: BBLALISELTLETS . ESBROBANBETY .
IR |2 A | BE | LT Ny R C hE—BCABBERIELET.
EGES 6.314] 10 1] 1.7745] 25.7] 5189 5330 BEBED TR EREEN TR
HAEER 3.734) 10 0 1.7086 457 2782 5330
% HAEEE 6034/ 10 0| 1.6293] 37.5| 4441 5330
% BERE 4.409 8 0 1.6056 53.7 1392 5330
= [HER e 2 0| 0692] 47.7 1772 5330
HEDE 4509 10 0 23742 52.1 1583 5330 _ .
ECEE Hl 26.16] 50 3| 6.3765 403 4385 5330 LR e
AXFE 70 2] 29% 255] 7] 0 1.225] 455] 1951 3784 - —
AR 7 3| 43% 4.299 7 0 1.3598 404 2798 3784
!_a SR 10 5] 50% 499 10| 0| 1.8842] 50.1] 1426 3784 I
& HREF 11 4 36% 5.861 11 0 1.8395 39.9 2916 3784
= [BRHE 6 1] 1% 3004 6 0| 1.477] 3643170 3784
BARE 9 2 2% 3.557 9 0 17273 41 2761 3784
— A% EEEt 50 17]  34% 24.26] 42 7| 5.8477] 37.6] 3319 3784
B — AR 100 37| 37% 5058 90 13 | 10.047] 36.5[ 3422 3749 — MBI D TR AT
SEX
ER 15] 5[ 33% 8177]  15] 1 2.0001] 34.1] 1750 1918 BHE B
R 15 3 20% 7975 15 2 | 21072 264 1907 1918 NE D
EEe] 15| 5] 33% 9092 15| 1] 2.7038] 34.9] 1737] 1918 WE B D
2R 15 5  33% 7184 15 0 2354 407 1459 1918 e £8-%R c
ﬁ BEH 8 1] 13% 4245 8 0| 1.8537] 32.5| 1766 1918 amnrn. b A itab Be D
w [HETEH 8 3 38% 5429 8 0 15743 34.6 1699 1918
= |[RER 8 o ox 4008] 8 0 14saz| 23] 1874] 1918 a1 wane —
RER 8 2| 25% 3.856 8 0 14382 37.1 1602 1918 N HERDERENIUL TR ERDBE
£F-%E 8 2 om 400 8 0 18277 386 1589 1918 R [ EEOEREN WL ECAEROBE |
EfREE Hi 100 26  26% 5405 99/ 17 | 8.8843] 18.4] 1913 1918
e 200 63] 32% 1052 162 51 | 16.149] 23.9] 1672 1677
SE] EEE (EEL—5 —Fr—rORVRIELETFY. HOBHNEHORTERLTVET)
EEEE = ] CHGEE
R | 5;;%2?& [ER = cwe S3m | | (R | % ot 530 || 5;!? (R f#E wmw 53m| Pm | @gjz [EfR | B2 ohe | Bm
1-1 BAEE: 4 1] 8% Kk [1-1 50 3 19% 1-1 3 3 26% 4-6 E3 2 1] 25%
1-2 [BRE&EE | 1 5] 8% Kk 12 FHE | 4 5 219 1-2 [Ex I e G
1-3 BAERE 2 1 14% 1-3 é 3 3 4 74% K |1-3 HX 2 5 66% 4-8 W 3 3 39%
-4 HEEKRE | 4 5 8% 7R FER) | 4 5 17 1-4 EEd |1 1] 5w 4-9 (%3 |20 4] 18w
1-5 | H BEEXE 4 1 49% 15 | 4 2 15% 1-5 SRR 2 5 39% 4-10 | B B 2 2 23%
1-6 Gk HEEARE | 2 4 30% 1-6 (XZER) | 3] 3 43 1-6 (XFMER | 3 2] 25% -1 B &P |4 5] 60%
-1 B engEE 5 3 66% 1-7 c 5 5 68% 1-7 | @ |EF 4 3 55% 4-12 £ 3 1] 76% *
1-8 FREEE | 1] 1 56% 1-8 FUA) | 20 1] 48% -8 i BAx | 3] 3] oau| [4-13 HE 11 15k
1-9 FREAE 1 4 85% K [1-9 Z 5 5 86% 1-9 | B BAX 5 2 41% 4-14 HFETRERE 5 3 50%
1-10 | PEEEE | 3 3] 68 1-10 é | 2] 2 ey 1-10 B\ | 1] 4] 64 |4-15 FEEENEE 3] 1) 81% K
2-1 BEERE 1 3 28% 1|y 4 4 95% 1-11 BRX 4 2 T1% # [5-1 ES 2 172%
2-2 BEESRME | 3 5 3% 22 |1 4l a1y 1-12 B 5-2 | [ 8] 2] 8%
2-3 PRYEE 4 1 68% 2-3 4 5 3% % [1-13 g 2 5 36% 5-3 | . 4 3 14
2-4 % |FBEEE | 1] 2] 25% 2-4 | 2] 3] 70%] & [1-14 jmrmmamm| 5] 4] 98% * [5-4 | ; [ s 1] 1e%]
25 | B FREEL 2 2 62% 2-5 5 4 36% 1-15 WEREIEM 3| 3 40% 55 g 2 5 47T%
2-6 |k BEABREE 5 5 41% 2-6 H&E(HEFE) | 3] 3] 53% 2-1 [z [l 2] 1 5-6 | E [ 2 1] s8]
2-1 B AABRE 1 5 23% 2-7 & (HRE) 1 1 80% 2-2 [ 3 1] 43% 5-7 BER 5 5 56%
2-8 MAENFHRE 5 5 38% 2-8 i #EREXRE) | 2 2 8% 2-3 AR |2 4] 3w 5-8 | FEEENEE| 1| 2] 664
2-9 PREE L 3 4 9% 2-9 | & #H&R(BXR) 2 1 49% 2-4 packt] 5 4 2% 6-1 BE 1 2 75% *
2-10 s EE | 2] 4 a0 2-10 B [H&(EA®) | 4] 4 374 2-5 [E= |4 ] as] o2 | Effis [ 5] 5[ sy
3-1 #BIRBBMOT| 5 3 46% 3-1 | P #R@EREEL 2 3 28% 2-6 -3 3 4 56% 6-3 E Ix 2 3 64%
3-2 |rmmnmmon| 1| 5] 57% 3-2 [#=EFE®EA)| 3] 3] 55% 2-7 | it [BR |1 4] 574 6-4 | E B¥ |2 1] 59%
3-3 FBEREMOWT| 3 5 40% 3-3 & (BREZE 4 3 33 2-8 | = 2 3 51% 65 EHLTU=vH 5 3 68%
3-4 | # [#EEREEMOXN| 5 5] 50% 3-4 HEGEEF) | 4 5 8w 2-9 | W [shiE [ 2] 4] asy 66 | g ESLTI=vH| 4 5] 49%]
3-5 | H #EEEEEOZT 5 1] 37% 3-5 = () 3 5 59% 2-10 AR 3 3 59% 6-7 EEUTI=VY 2 2 84%
-6 B RAXERE 2] 2 96% 3-6 HE@EF) | 4 2 am 2-11 AR |1 3] 9% * |68 | FPTHEEEE 5 5 58%
31 | B HAXEHE 3 2/ 80% %k [3-7 & (ER) 3 3 48 2-12 2R 3 3 96% 7-1 AR 5 3 46%
3-8 HRIXESE | 1 1] 8% 3-8 HEWmE) | 2] 4] 25%) 2-13 [E® | 2] 3] 36 -2 | WR [ 1] 5[ em
3-9 HRIXIEBE 2 2 8% 3-9 E = (Bra 2 4 53% 2-14 HPEERER 4 5 46% -3 . EBY 3 1 6%
3-10 |RusgomET®| 2| 4 14% -0 3 HEMBE) | 2 3] 20% 2-15 mrmEmEE 3 3] 99% -4 | ; HBEE | 4 1) 36w
4-1 BERE 5 5 27% 4-1 o HEOHE) 1 1 57% 3-1 et 3.4 7% K15 |y BY 1 2 5%
4-2 memmsE@mx| 5 5 71% 4-2 MEGpE) | 3 2] 51% 3-2 et | 4] 1] 6w x [7-6 | 37 |2 3] 56%
4-3 | g weEmIEEMK 4 2 28% 4-3 Bin 3 3 47% 3-3 HeR 14 88% * [71-7 'Y 5 2 69%
4-4 B wemmsmmen] 1] 1 55% 4-4 RiE |2 5 8% *x [3-4 #BEX | 4 5 63 7-8 | FETHEGEE 4] 5 1% K
4-5 | R wrmmwEsen 1 3 57% 4-5 15$R 44 94% 3-5 XEB 44 81% 8-1 HESE 1 1 73%
46 I mrmmemmsn| 4 4 63% 4-6 BeEEdet) | 4] 5 65 3-6 et | 3] 3 4w |82 | REA% | 1] 2| 6%
4-7 AEHE 5 5 68% -7 | B EPEER) 2 4 7% K [3-7 | E OB 4 4 46% 8-3 HENEH 2 1 78% #
4-8 EX 35 [ 3] 4 m & |48 | % BFEXEE) | 5 4] 32% 3-8 M [XFEME | 2 2| 55% 8-4 | g wESE | 5] 1] 34w
4-9 | B AXHAE 4 4 68% 4-9 | B KF¥(E% 13 29% 3-9 | ® [ER 4 5 8% k85 o HRESH 1 1 5%
410 = EEBEE | 4 5 48 10 F [BFESHI) | 3] 5 37 3-10 = [ 1] 2 8% * 86 | REATF | 3 4 20
5-1 by 1) 1 1 64% 5-1 P (BEE) 2 2 65% 3-11 BEOH 4 3 36% 8-7 HERE 1 4 69%
5-2 WIGHE | 3 3] 3% 5-2 BR@ER) | 3 1 5% 3-12 XEBE | 3 5 45% 58 | FETEAEE| 5 2] 62%
5-3 B I 44 il 4 4 59% 5-3 B (1) 5 2 17% 3-13 B 5 5 64% 9-1 FERRRAEER 4 3 18%
5-4 | |BREA |8 1 5-4 mRnE) | 5| 3] 154 3-14 jmemmamn| 1] 4 28%  [9-2 | semmanaeEn | 4] 2| 49%
5-5 | B BEX 1 2 37% 5-5 3 HH(f£%) 4 4 66% 3-15 FPBEBEN 4 3 24% 9-3 5 1 2 8% %
5-6 L BREX | 5 5 60% 56 g BRGE®E) | 3] 5] 49% 4-1 KE3 |3 3] &M 9-4 | E |20 1] 65w
EAE- PN 5 4 34 57w ERE(EN) 3 3 68% 42 | 2 5 2 53% 95 2 2 60%
5-8 Am |2 2 o 5-8 ERE®R | 1] 3 35%) 43 | g EX] |5 4] 36% 96 | = 1 1] 83%
5-9 DERRE 1 3 58% 5-9 HH () 3 5 34% 4-4 e 2 4 26% 9-7 2 4 41%
5-10 £33 | a4 1] 28w 5-10 BH (h%) [ o[ 1 13y 4-5 EZ))] |1 1] 92w 9-8 | =EcrEmaEm | 4] 5| 124

0904-1



